Dream Worldwide Unit 1

A Breakdown of four ayaat based on the study of Days 1-5
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(pages 19-23 & notes for Day 4) (pages 24-26 & Notes for Day 6) | (pages 27 and notes on Day 5)
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It’s %~ is obvious by the ‘I’ at the end. It is ;> because of the ;4| ~ before
it.

o] is light with no J! which mean its probably a c®Lxs. Our suspicion is

confirmed because the next word is definitely 4l CsLas: 401 because it is e

Itis 5> which is indicated by the ‘I’ at the end. It is ;> because it’s a 4| Glas

of r_w\

The four properties are Singualar, Masculine, Proper &

The four properties are Singualr, Masculine, Proper & .
It is matched with the word <\ above in all four properties. This makes the

word 4l a noun (Cswse) and the word & )| a iaw (adjective)

The four properties are Singular, Masculine, Proper & .
It matched with the word sl above in all four properties. This makes the

word 4! a noun (4054) and the word r.PJM a daw (adjective 2)

32 Masculine, Singular & Proper

A, (pg 27)

The four properties are Singular, Masculine, Proper & . It is ;> because of

Y
g the ;4\ > before it.

@ It’s probably a :Las because it is light, no JI. The only way to be sure is to
k_))

see if the next word is “~. Since the next word could be ’~ (eena), itis and

so this O is in fact a Glas.
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The four properties are > (‘I’ at the end), Masculine (no sign of feminine),
singular (no sign of pair or plural) and proper (2La- is proper when 4} Cslas
is proper. Since o\l is the aJ! C3Las and is proper due to JI, this Celas, i.e.,

Z; is proper)

Has an ending combination ‘eena’ which could be ;» and if it could be, it is.

This makes i)\l @ 4] GLas and therefore makes S5 a Glas.

The four properties of the whole £L3) are the same as the four properties
determined for the :Lzs. Therefore, the four properties are *~, Singular,
Masculine and Proper. These four properties match the word <\ and

therefore this phrase is a a0 while the word 4l is a G yuwye.

The four properties are Singular, Masculine, Proper & ,». It matched with
the word sl above in all four properties. This makes the word <! a noun

(25005+) and the word .~ )\ a 125 (adjective 2)

The four properties are Singular, Masculine, Proper & .
It matched with word £\ above in four properties. This make the word 4l a

noun (Bse,.) and the word > )| a 22 (adjective 3)

Is a 2Las because it is light, no JI.

Is a | ©2Las because it is j»

Is also a &Lzs at the same time because it is light, no

Is a | ©2Las because it is j»

¢s is @ ©elas. The only way to know whether or not a CsLas is proper is to
see if the 4] Clas is proper. The u\ OGlas is ey, It cannot tell us whether it
is common or proper because it is also a 2L, QQ:\S\ is the 4] Clas of o5 and
it is proper because it has J\. Because QQ:\S\ is proper, its Glas, p3i is also
proper. Because ¢ is proper, its Glas, clls is also proper. The four
properties of ¢lls would be >, Singular, Masculine, Proper. These four
properties match the word 4l above. Therefore, the entire Bl e, e M

QQ:\S\ is @ Lao (adjective 4)
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